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PART -A
GENERAL ENGLISH
(Marks : 25)

Identify the correct sentence.

(1) I am hearing some noise.
(2) 1 hearing some noise.
(3) I here some noise.

. (4) I hear some noise.

I purchased a book. It costs rupees hundred.

Choose the sentence you get when you combine the two sentences.
(1) I purchased a book while it costs rupees hundred.

(2) 1 purchased a book which costs rupees hundred.

(3) I purchased a book when it costs rupees hundred.

(4) 1 purchased a book as it costs rupees hundred.

Choose the correct sentence from the following:

(1) Shiva will eaten the mango. ~ (2) Shiva was eaten the mango.
(3) Shiva has eaten the mango. (4) Shuva is eaten the mango.
This is useful form of activity.

Choose the appropriate word from f.2 foliowing:

(1) a (2) an (3) the (4) any
Preparations are being made for ner marriage by her parents.

Choose the correct active construction sentence.

(1) Her parents is making preparations for her marriage.

(2) Her parents make preparations for her marriage.

(3) Her parents are making preparations for her marriage.

(4) Her parents are being made preparations for her marriage.

The proposal was denounced by one and all. Give the antonym of the underlined word.

(1) announced (2) pronounced (3) appraised (4) commended

[PT.0.
BS A-1
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We sat the tree to rest. Choose the correct word to fill the blank.
(1) among (2) under

(3) below (4) up

He was profusely talented. Choose the correct meaning of the underlined word.
(1) abundantly (2) dearth
(3) limitation (4) enough

Read the following passage carefully and answer the questions.

Mahatma Gandhi believed that industrialisation was no answer to the problems that plague the mass
of India's poor and that villagers should be taught to be self-sufficient in food, weave their own cloth
from cotton and eschew the glittering prizes that the 20th century so temptingly offers. Such an idyllic
and rural paradise did not appear to those who inherited the reins of political power.

Fill in the blanks choosing appropriate answers.

According to Gandhi, can be turned into 'idyllic and rural paradise'.

(1) village (2) town (3) city (4) urban area

Gandhi's views opposed industrialisation of village because
(1) it would affect the culture of Indians. -

(2) it would help the poor and not the rich.

(3) it would take away the skill of the villay =

(4) it would undermine self sufficiency and destroy the beauty of life of the villager.

Gandhi's dream of an idyllic and-ural paradise was not sharedby ______
(1) those who believed that villages should be self-sufficient. '
(2) those who called him the Father of the Nation.

(3) those who inherited political power after independence.

(4) those who didn't believe in the industrialisation of the country.

The basis of an idyllic and rural paradise is

(1) rapid industrialisation of villages.

(2) self-sufficiency in food and clothes and simplicity of life style.
(3) bringing to the villagers the glittering prizes of 20th Century.
(4) supporting those holding powerful political positions.
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The meaning of 'the glittering prizes that the 20th Century so temptingly offers' is
(1) pursuit of a commercialised culture (2) absence of violence and corruption

(3) replacement of rural by urban interests (4) complete removal of poverty

Do you know how to write essay?
Choose the right word to fill the blank.
(1) a (2) an (3) the (4) one

We have arranged

Complete the sentence using appropriate part of the sentence given below:
(1) for someone to look after the dog next week. o

(2) someone to look after the dog next week.

(3) to look after the dog next week for someone.

(4) looking after the dog next week for someone.

Which of the following word is wrongly spelt.
(1) comprehensive ‘ (2) unwholesome

(3) rusticate (4) priscribe

Identify the pair of words that rhyme with each other.
(1) shine : line - - : (2). gle= gay
(3) breeze : lie (4).vales : hills

He is poor. He is honest.

Which of the following is the right.s=nicnce when the above sentences are combined?
(1) He is poor not honest.
(2) He is honest but not poor.

(3) Inspite of his poverty, he is honest.
(4) His honesty made him poor.

He said to the boy, "Are you coming?"

Which of the following is the right way of reporting the question?
(1) He told the boy were you coming.

(2) He asked the boy if he was coming.

(3) He asked the boy was he coming.

(4) He told the boy if he was coming.

[P.T.O.
BS A-2
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They haven’t gone to the temple.

Choose the correct question tag to the sentence.

(1) Hasn’t they? (2) Haven'tit?
(3) Are they? (4) Have they?

Fill in the blank with appropriate word from the following.

Auden's poetry is infused humanistic feelings.
(1) on (2) with
(3) in . (4) for

The teacher said to the boy, "Get out of the class".
The above sentence can also be expressed as:

£

(1) The teacher said to the boy to go out of the class. S
(2) The teacher exclaimed that the boy should go out of the CHEs.
(3) The teacher ordered the boy to get out of the class.

(4) The teacher requested the boy to get out of the class

Identify the grammatically correct sentence.

(1) He doesn't jump to hasty conclusions.
(2) Share the dinner among you two.

(3) She has been written a book.

(4) I am tired with writing to him.

The eyes are called the windows fc. the soul.

Identify the parts of speech of thc.underlined words.

- (1) Noun, Adjective (2) Verb, Adjective

(3) Verb, Noun ~ (4) Adverb, Adjective

Very few cities in India are so big as Chennai.
The above sentence can also be expressed as:

(1) No other city in India is as big as Chennai.

(2) Chennai is bigger than most other cities in India.
(3) Chennai is biggest city in India.

(4) Chennai is not the biggest city in India.
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PART -B
GENERAL KNOWLEDGE
(Marks : 25)

Manmohan Singh has been honoured with a degree of Doctor of law by
203555 20D @gh b o0 GRS TEI0DH

(1) Oxford University (2) Cambridge University
b dgdorgpato oG JEITgpao

(3) Harvard University ‘ (4) West Minster University
28 DgDTTgeoto 2 2lgd Mgdorgwao

Reliance Cup is associated with which one of the following?
Boohdy 55y S (08 736" B3 Boeofolud?

(1) Hockey (2) FootBall
58 Seferd
(3) Cricket (4) Tennis

Ecology deals with one of the following:
Bog5Er0 5§08 TIE .80708 Ho2oReldd
(1) Relations between organisms and their envircnn =n!
20 Ted HOIT°0 Ho¢5 oG
(2) Birds
DFO0
(3) Tissues
Ee323° 0500
(4) Animals
22080 )00

Which of the following is present in hard water?
grezosnd’ 81 @od 36" DO &otsood?

(1) Aluminium (2) Sodium
&Dwgibi)aﬁo Féavo
(3) Chlorine ' (4) Calcium
50 s9amo

[P.T.O.
BS A
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Night blindness is caused by lack of which Vitamin?
0 DS BT Gi0¢Ee20 DD BREES SB?

(1) VitaminB (2) VitaminA (3) VitaminC (4) VitaminD
DS B JeaDos A Deados C e D

The biggest planet is

ed e (IS0

(1) Jupiter _ (2) Venus (3) Mars (4) Mercury
22eb DOV - 558y Do,

Aryabhatta was a renowned

8:5552568 &8 (a0

(1) Mathematician (2) Poet (3) Physicist (4) Doctor
RedsT08 £ T ASTZE Fathes

Who was the founder of Mughal Empire in India?

BrEBOTOS" Dol THTEo TROVBO JB5?

(1) Akbar (2) Rahadar Shah Jafer
B0 b e espb

(3) Baber (4y Mlumayun
ered SR0H0OXTS

Alexander Fleming discovered
edrocd PAoh SAHD

(1) X-Ray (2) Television
JE-0 ; $0eS

(3) Computer (4) Pencillin
oM ' 20O

The Indian Financial year commences from
GO €38 SO tEn @Eoassociod

(1) January 1st (2) April 1st
ol B _ DEand 1
(3) March 1st (4) July lst

Carg) 1 2@ 1



36.

37.

38.

39.

40.

Indiavidya.com

9

The classical dance of Andhra Pradesh is

e30(G5 (BOF ToRTaD Do

(1) Bharata Natyam (2) Kuchipudi
2B TR0 OGS

(3) Kathakali (4) Mohini Attam
EE5ED T €960

International Literacy Day is observed on

©OBTAAD LE0TE 550 Jredotetd

(1) September 8th (2) September 10th
Do 8 e 10

(3) March 8th (4) October 24th
570) 8 Bt 24

Who is the winner of Women's Foot ball World Cup 20117
2011 5ok Hh0 59 Hourde Peferd D DD60?

(1) England (2) China
oo o

(3) Japan 4) . Germaay
20 w{&&

According to the Census 2011 which of the falluwing has the least population?
2011 esi5eass 500 5+ 300 36" 43 $50),% eTver S0d 28?

(1) Puducherry N, . (2) Daman and Diu
DB T7508 SoBao Gk

(3) Laksha Dweep (4) Dadraand Nager Haveli
Sl/am)oM oS 0800 KD 3O

Who was the chief guest of Republic Day 20127
2012 016 8388 BT &yS Boog 08 IHH?

(1) Yingluck Shinawatra (2) Ban ki Moon
ohel HgsEe &S & S
(3) HuZintao " (4) Dimitri Medvedev

50 BT A3 DS

[P.T.O.
BS A
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While introducing a new topic or lesson, the teacher should begin with :
2.5 (58 Trorgodhnnii (5% 2epnBcs G oo BIE FrEofonsdo.
(1) anover view of the subject matter.
FeBIBE0 DR DI
(2) the related knowledge of the lesson already possessed by the student.
TTOT8 $Sowofod TR T é@z_géqe?
(3) the teacher's interest in the subject.
e TEDHENOE EITREND SHEDE
(4) an explanation on the importance of the subject matter.

DeEORED @FEs0pgBie DHBoBHIE

Which of the following professions claims the largest membership?

5+ 308 D)0’ BIS" A5 JebgeaTHo?

(1) Engineering (2) Law
TR NS ke SN

(3) Medical . (¢)(Teaching
;_5553@ &5"(;5"5‘053 ;‘)Q@

What makes teaching a true profession?
5735550 DB eI BB DIgaA?
(1) an attractive salary
es50edaRs daren
(2) along period of training
2008 35y
(3) discipline of its members
B 0ahg E50BEE
(4) teachers' professional organisations

é@“’a"sois Y SoPTen
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44.  The teacher's primary responsibility is:

45.

46.

(1) Promoting human relations with parents.

DTEE0 HOGoeS BFES Howogres woFoBoEot
(2) Planning educational experiences.

ITghoniress (Herddsbosie
(3) Keeping class room records.

BN TIF J@re IT5erotoe
(4) Implementing administrative policies.

TOT DTS5 3580508

A good teacher
2.8 5000 €T oK

(1) has self satisfaction.
@é& éO@a;)D @“OCSO:@O
(2) gets the honour of the parents.

200 BdGoe Bood AES SFosen ok
(3) will have good companions.

000 H5° HEoe) Jodindy
(4) Possesses good students.

00D DT ELOBO Focssso

The most appropriate meaning of learning is:
©LIFO00 Ao, es0d DOGID ©g0 DI :
(1) personal adjustment

D58AB Beheren
(2) modification of behaviour

B55S° Sty
(3) aquisition of knowledge

28 DV0TYS
(4) development of skills

SVETERR

[P.T.O.
BS A
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If majority of students are backward in your class, you should
D SERSE’ J50 5008 D0 ISoseE &E582028, AP
(1) reduce your speed of teaching.
S5 Dy BhoTD
(2) not care about it as bright students suffer.
BRI DTed erBETred> 8508 7)) 88, DA
(3) bring change in the language style.
2L 3O $rEnE T
(4) keep your teaching slow and provide additional activities to bright students.
DEHONT £ HRT, BIDS T8 eesd) §yTrwiss $9wd.

Good learning is a function of:

5000 egITOS (D008 ¢

(1) Principal's leadership and dynam:sm (2) availability of modern communication devices
RETrTtog TSR0 2000k P850 €955 [RDPS TG0 &0CRTEN

(3) teachers' dedication and interest (4) teachers' scliolarship and research

ETRgO00 €085 grISEn 00K eAIdD Gk RoMB0 H0A00 2085

Teacher's performance can be rightly assessed in terms o
CdriETgatnd %Dy SIS 0N oS DOLHIY
€)) Marks secured by the students.
Dorgtigen DPEOND STE N e
(2) The quantum of modification in the student behaviour.
Do (EHEHS" 5D JHeITEpe e
(3) Student - teacher relationship.
DO é@“’q?;soinﬁ)é B0G35 oLy aaeé
(4) The speed with which the teacher completes the syllabus.
ST T EHESETE0 JrEBS DTy ¢
Complete silence in the class room is an indication of:
BENS KOE" 3778 VT ATIoVO :

(1) good teaching (2) class room management
9000 57659 BONS QeI
(3) fearof punishment (4) lack of interest

SOSIED glako g BEFscco
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PART - C [Marks : 100
BOTANY
(Marks : 50)

Gynobasic style is seen in this family
worss s Losn & Henondnd® Ednthéod.

(1) Acanthaceae (2) Lamiaceae
WSPORED . eI

(3) Liliaceae (4) Rubiaceae
0O - ' BrGHR

The flower bearing part in the spikelet of grass is called
K& Ao D5B0EED HAY) EOA ¢otd DYDTNY ae° ©otrd

(1) Rachilla (2) Lodicule
TeeR S

(3) Lemma (4)( l-alea
GE) DO

Cyathium inflorescence is present in this fimily
RAETRHEDHO PHYYDTFRID &3 Zrenoaind® Beinod.

(1) Euphorbiaceae (2) Amaranthaceae
53 ByGbR ©HTOF

(3) Liliaceae (4) Poaceae
DOTHD SO

The gametophytic phase of the life cycle is dominant in
A28 B0’ Sod@rK Deis BF & (Bod 36" 2irgERD eotwob.

(1) Gymnosperms (2) Pteridophytes
258 Dastwen Bo&"3e5en

(3) Angiosperms (4) Bryophytes
oS DesSoen - (@rpeSen

[P.T.0.

BS



55.

56.

57.

58.

59.

Indiavidya.com

14

Hesperidium fruit is seen in this family

P B&abo DHeosin K Benonind® ALk

(1) Rutaceae (2)
S8

(3) Sapotaceae (4)
HRPED

The famous Indian scientist, Birbal Sahni is a

B rEBod TGt BHS FT0

(1) Embryologist (2)
JoDaires

(3) Bryologist (4)
(paireE]

In Ascomycetes Karyogamy occurs within the
63535&;:3_3&3565 Bo|88 Sod@mio BAS® wtorbéod.

(1) Ascogonium (2
@@5&55305353 '

(3) Antheridium (4)
w0680 S |

Diploidization in Puccinia grariinis occurs in
HE05 (POIBS GovhBziatin GRS AGHSHD.

(1) Teleutospores (2)
B80e* 5 5en

(3) Basidiospores < (4)
BRA@IHGen

Rubiaceae
oAV
Cucurbitaceae
5T

Palaeobotanist
DO
Phycologist

= =
Pseoda

Ascogenous hyphae
wHBIR SodHen
Ascus mother cell

e—s‘é&ﬁ aﬁm@ Y0

Uredospores
S8 &" R Ben
Aecidiospores

NRETeHBen

In Mucor, the type of sexual reproduction is known as

BB’ astorh Bohs (HERHE oY 8 ©OETLD.

(1) Planogametic fusion (2)
Kdnddo@rtde: Hod@ern

(3) Somatogamy . (4)
B85 HoEmHED

Gametangial copulation

Sod@riderdch HoBgo

Gametangial Contact

Bo@rrdardadh domoio
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When a fungus requires two different hosts to complete its life cycle, the fungus is
referred to as |

55 EDSVSR BoFFOIAEHED, 2.8 BDoFEnSE Bod I ©BPdine SIEIPIYPD, ©
3ot aer wotrd.

(1) Homothallic (2) Heterothallic
Foav IS 8808

(3) Heteroecious ) (4) Autoecious
D645 ' - OISR

Female reproductive organ in Chara is known as
oed® (§) [H858)8 @5chdw

(1) Globule (2) Nucule
fﬁewoegef SoEoeses

(3) Antheridium (4) Archegonium
D05 Derdahidn & Der B

A condition where the two flagella of a spore are 5 dissimilar morphology is called as
Both eBEmS Gy Savgren Ko b8 du 28D aew dogrt. |

(1) Heteromorphic 2) Isokont
B8 5r0)8 odbsrots
(3) Heterokont (4) Isomorphic
23 &sr0s SRS

The sugar alcohol mannite! 12 found in
SrQErS ol Db eeFd AQS° KBS

(1) Chlorophyceae (2) Phaeophyceae
g65 HIPPR

(3) Rhodophyceae (4) Chlamydomonas
SRS SOE BrTR

An example for photosynthetic bacterium is
B8RO @rrBabty sthHHEH fBedSE e aurirds.

(1) Chlorella : (2) Thiobacillus
goex TR
(3) Nitrosomonas (4) Chromatium
S E3rTO ' (E°Soeadho
[P.T.O.
A

BS
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Chromosome movement during cell division is due to

Seadegfesd Hchins® ERrPHe Josin Y aroe wdirbod.

(1) Spindle fibre
?;Do&ﬁ b
(3) Chromomere

(B°Ror0ab

Cell cycle includes this sequence

Eeadged Sory SEo S (B SO Gotwob.

(1) S, Gy, Gy, M
(3) Gy, S, Gg, M

The process that ensures the maintenance of the same Chromosome number through

generation to generation is

(2)

(4)

(2)
(4)

Telomere
St wcHb

Centromere

_?oo@SaébcﬁJg

S, M, G, Gy
Gy S, M, Gy

2.8 B850 $08 BOEE SEENHH o8 EFrBD Doy Aiees FAVLY) @E

(1) Meiosis

(3) Endomitosis
Do&s@w.‘bﬁ

Meiosis occurs during the f(rn:ation of

2 3)63&.5&3&363 EohEbe D abihdod.

(1) Male gametes
DR Hod@rr Desbmen

(3) Microsporogenous cells

ng& ?ocg Desesd® Beasdmen

In dicot stems the vascular bundles are

~

(2)

(4)

(2)

(4)

exstde sotines® rdsHomres & Diforr Gokra.

(1) Scattered
BlatIotalA

(3) Amphicribal
BB olE

(2)

(4)

Mitosis
DEFPRDY - -
Amitosis
APt

Pollen mother cells
gy 08 Des Loy Beadhwen
Microspores

gy g Dessimen

Arranged in a ring
28 Sochos® eddpé
Radial

Bolbg)s B8 5y
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Secondary phloem furrows are present in this stem.
ByBoh Fissmare mden & Solins® BB,

(1) Bignonia (2) Aristolochia
DRSS P HAsre

(3) Boerhaavia (4) Dracaena
SHEHFD &

Perforation plates are associated with

Bol pesten DBE wdaoo EOA Gotran.

(1) Sieve tubes (2) Tracheids
el Trgren ‘ ool Bescen

(38) Vessels (4) Sieve Cells
TeBoTeEeeD | Treld) Eeren

Bulliform cells are seen in the leaves of
Do Sewen & D@’ EIDFoW.

(1) Nerium (). Ficus
HBcHS 280

(3) Allium (4) Saccharum
©DIHDH BB

Calyptrogen is useful in the fcrroution of
SORFaS B 6$)88° aBFrrdhE08.

(1) Root epidermis (2) Stem epidermis
| B% ariegso - oo erRgSEo
(3) Leaf epidermis (4) Root cap
o ardegSBl0 3 &%iH

Korper-kappe theory was proposed by
8)6-53y) drposeR) (BHBFBDIH.

(1) Schmidt (2) Scheup
2eS S5

(3) Newman (4) Hanstein
BongoS SRS

[P.T.O.

BS
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When a plant is grown in a wet soil that starts drying up, then the plant water potential
gradually becomes
o 8830 TEBLO SBOPIBHPD, @ Jos® DoBRD FnE) IS I

(1) More +ve (2) More —ve
QENE +ve e ok QENH —ve e Sedodod
(3) No change (4) None of the above
S8) GO 20 2D ==

- Plants usually absorb nitrogen in this form
FrSeaorr Twen HBaID G Erdos® §ke Dxow.

(1) Nitrogen gas (2) Nitrates
ko (el 3(EeSen

(3) Nitric acid (4) Amino acids
JIE3E esdodw oS edren

In the photosynthetic electron transport system, Fgois a component of
BearidgRodrrEah dolges Serer S50 S0, Pgeg 59 ©0zned80rr Gotnob.

~ (1) Photosystem II (2) Photosystem I
08 &g 11 | s08 %555 1
(3) Photosystems I and I (4) Stroma
508 Spiden 1 0o IT (B

The mineral associat.ed with thi: oxygen evolving machinery of PS Il is
PS 1T &2 28jad éé&é&oi‘f’i&» GHEGo% & plao ﬁsén)(ﬁne‘_’aao&

(1) Copper , (2) Iron
s°H0 ‘ 088

(3) Magnesium (4) Manganese
Dfyacho ' R TogFANSH)

If R.Q. Valve of a tissue is 1.3, the type of substrate used by it in respiration may be
25 TR0 Serein a8 R.Q. Do 1.3 @anis’ o T5i8chs & Sorfo BArmrid eoti.

(1) Glucose (2) Triglycerides
[ORSS (BASTEeD
(3) Albumins (4) Citric acid

©e)a0Se0 D5 oo
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One of the following is a stress/fruiting hormone
& (B0 3 88 (DBvoD/Hof HOHES HEHS

(1) Ethylene (2)
J6OS

(3) Auxins (4)
@8 0

The pigment involved in the photoperiodism
508 TerdHE°® P BOAS HSPESw

(1) Phytochrome . (2)
28ER S

(3) Xanthophyll (4)
oG DS

The substrate for photorespiration is
5208 FRBahS Baireed émgo

(1) Oxaloacetate (2)
BT AEES

(3) Succinate (4)
$8)3¢5

Fertilization in casuarina is of tuis type

searBard® Hobsdn & o

(1) Chalazogamy - (2)
WEPEPHAD

(3) Mesogamy (4)
oREKD

Cytokinins
265" 805w
Gibberellins
2eBASen

Chlorophyll b
g°6°»S b
Carotenoids

258 rongen

Serine
FolalS)

Glycolate
ESCY

Porogamy
6D

None of the above

2 A =P

In a tetraploid angiospermous plant, the microspores formed are in this condition

28 SHYBY efBdad WHE® DG gy v Dadoes Bov sotron.

(1) Haploid (2)
éé?g\)@suen ’

(3) Triploid (4)
BobBsee |

Diploid
SyabR BT
Teraploid
ééa?ga@s"m

[P.T.O.

BS
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A flower that never opens in its life span is
85 408 ood® IGtr DHFDHY DL Ber woLrd.

(1) Heterogamous (2) Homogamous
ARSI ERA SBHIP ST

(3) Cleistogamous (4) Dichogamous
B0%)8 BOBKE DYDY SEFDSO

The development of an egg into embryo without fertilization is called as
Pobstn 2BKES o8 @3 Desendin DolSore ée}@ Do B WOLFL.

(1) Apomixis (2) Apospory
o8 . PN

(3) Parthenocarpy (4) Parthenogenesis
) ORIV

Myristica fragrans exhibits this type of endosperm
WOYS® FPRR) &e 88D woHBHT Y EOA &otnod.

(1) Cellular )  Helobial
Beaiines St DaHS

3y Nuclear | (4) Ruminate
BolBEw B35

As a consequence of pollen-pistil interaction, which type of pollen will be allowed to
germinate on the stigma
DG - oSt e DEHU OG5 Do, > 88D DB BeHen Serfsn D& IweBENS@ET .

(1) Incompatible pollen (2) Self-incompatible pollen
D DB Beawihen Bado - DHG HINE TewHen

(3) Compatible pollen (4) Compatible and incompatible pollen
©IHE HT)E TewHeo DG DB DY HE Bahen

The Qil yielding part of the coconut is
b aHE® SrIVKY Py B0

(1) Epicarp (2) Endocarp
ersRy Po S50 ‘ ©ods P B3I
(3) Mesocarp (4) Endosperm

gy Do BR85S0 &905355‘3(5&3
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The botanical name of the Tea yielding plant is
doird 3&@)5n$;6ﬂ§dﬁ;wﬁbéw

(1) Eugenia caryophyllata
B SBBIHTEr

(3) Cinnamomum zeylamiam

23D BordED

The common name of withania.somnifera is

DS YT ) BgHIEE Te00

(1) Aswagandha
& oL

(3) Red Sandal wood
B S5 65 SoisSo

(2)

(4)

(2)

4)

Camellia sinensis

WP PIYD
Coffea arabica

5eR05r e@bdse

Sarpagandha
ééﬂ)ﬁod
Sandal wood

Holdn

Corchorus capsularis plant is useful in the production of

SEER SeEers’ Ik B) SairdE® eDAPHHDHEHE.

" (1) Cotton (2)

38
-0

Sii_gar
eﬁégp

(S

Jute
2308w

An example for anchored and subnicrised macrophytoplankton

3%‘) $PBED ©0tntH, HnIA &0 Yo ERITOD a8 amFse.

(1) Hydrilla verticillata
e IpEe
(3) Typha
8

An algal plant that is a parasite and causing diseases in other plants.

(2)

4

Salvinia
DRSSP
Nymphaea
Qodasr

rer TGS’ Do) ADe ASHET BrogydH Benrf@an el 3Sodo

(1) Coleochaete
sﬁaa:ow

(3) Stigeoclonium
RBAEIHS

(2)

(4)

Cephaleuros
RPeTTR
Ectocarpus

.Dsrgs“q)ﬁ

(4)

Oil
3

(P.T.O.
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Plants growing in forests located in areas where high temperatures prevail through
out the year.

SosH By DEHT w68 GEfEm KOAS EdTes” cot g Hoto oHos® 1BIH IvHen.

(1) Megatherms (2) Microtherms
dre e3I5°en ;(nogé &SP

(3) Hekistotherms (4) Mesotherms
o8 Jrg) Gustey , G e3seen

Rafflesia is a

ST 28

(1) Partial root parasite (2) Partial stem parasite
8L I oy ED FBY ol HTHED

(3) Total root parasite (4) Total stem parasite
Loy 3 DoHED Borg seol HoeBD

The smallest soil particle which is less than 0.002mm 1s

0.002 olb. G Sy HBEFE0 Ko SYFES'D Hg) Trden

(1) Fine gravel (2) Fine sand (2) Silt (4) Clay
aegy o8B . Qg a3 051 208 e

Plants that grow only in shade are cailed as

Hre® Sr@ah 20H FwHed o GBS ST

(1) Obligate sciophytes (2) Facultative sciophytes
wDse) BB PE BEYYS DA PE

(3) Obligate Heliophytes (4) Facultative Heliophytes
o) SrOGrRSe E K& rogrpSen

Saxicolous lichens grow on

;3°§Q§Ee>§ B83en D3P DDE D

(1) Rocks (2) Soail (3) Water (4) Bark of tree
Beoen a’aae)@é Hd e BB

Life cycle in Polysiphonia is
ORI &S S(Bo

(1) Haplodiplobiontic (2) Haplontic
DE-Bich 98BS OF 2,88 ‘
(3) Diplontic (4) Haplobiontic

b 2BE By-08 B
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ZOOLOGY
(Marks ; 50)

The organelle that contains digestive enzymes

£B80H% ) doBdwen Ko Serorzm
(1) Golgi apparatus
9 Ho%Tren

(3) Lysosomes
BEHy)

The periodicity of circadian rhythm
SOAMS 658 SSwEn GE) SOHONS,
(1) 12 hr

12 Hodsen
(3) 36 hrs

36 Hoéren

Mammalian egg is

éémvme‘i‘s &0 (gSl=

(1) Telolecithal
B85S

(3) Hololecithal
S BuGS

(2)

(4)

(2)

(4)

(2)

4)

Endoplasmic reticulum
@oééé (Egeredn
Mitochondria
DePgro@air

24 hrs
24 Kobren
48 hrs
42 hatoen

Mesolecithal
DABEBLES
Alecithal
QBGHS

Which of the following species commonly used for pearl oyster culture
Songh S5y BoBESHED T PEESFEHT SHE RODH 8

(1) Pinctada vulgaris
DTG Herod

(3) Pinctada chemnitz
oSgo ESHA

(2)

(4)

The primary host in the life history of Fasciola

FUTre BDE SOIES® DEE ©8FdHSw.

(1) Pig (2)

308

Sheep
freg
[

3)

Pinctada fucata
dSgeee e
Pinctada anomoides
3)55;&:1’ OSSP cS

Man (4) Snail

APSYL 2

[P.T.O.

BS



106.

107.

108.

109.

110.

Indiavidya.com

24

The desmosomes meant for the mechanical attachment are known as

cﬁ:ﬂo@é esc;ﬂé&biﬁtj aﬁ:ﬁﬁ&;,@ DdoT.

(1) ‘Belt desmosomes (2)
Bg aRLE Ry

(3) Hemi desmosomes (4)
=l BAYESY

Gastric juice has a pH of
es58 S5k ang) pH

11 (2 2 (3)

Spot desmosomes
IS RS
Septate desmosomes

?o'%és E@Gééeiga.

6 4) 8

Thick filaments of skeletal muscle are composed of

edHous Sodore o8 HOBFS SoHHes® add.

(1) Actin (2)
o8 _

(3) Troponin (4)
(€EERS

Construction of nests by birds is an example of

dHen Kt ég Dperdl cnd arrdede

(1) Stereotyped behaviour (2)
&5 S5
(3) A.earning behaviour (4)

OLaDD BB

Jawless vertebrates are

EHEB $EZGseen

(1) Agnatha 2)
e

(3) Gnathostomata (4)
I8 paber

Myosin
SHATPIS
Tropomyosin

(P RBRS

Motivated behaviour
(208 (DSBS
Trial and Error learning

oty HBA B ©PADED

Cephalopoda
PS Y
Ufochordata
SsPeger
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111. Which of the following is an example of monosomy

112.

113.

114.

115.

IR & (Bob emeide,
(1) 46, XX (2) 47, XXY (3)

The phenomenon of genetic drift is seen in

ety Sossw (Bod TS EQLHRO

(1) A large population (2)
a8 DL arer

(3) The entire specis (4)

Iwso 28

Metamerically segmented body is present in

Ssopol 555 BOA &F) £

(1) Earthworm (2)
ER

(3) Neries (4)
bes

Tryopanozoma is an

(BHFEESr

(1) Intracellular parasite (2)
SerosS Ho°s) £

(3) Ectoparasite (4)
arsegoe) 20

Vitamins are

DD

(1) Accessory essential food substances (2)
020G 83 a8 émga’mm

(3) Produced in endocrine glands (4)
DF|ofos® Gansssn AN

49, XYY (4) 45,X

A small population

w8 DY) eTeer

The entire genus

o’ (Herd

Leech
2200
(.ockroach
&°gos

Extracellular parasite
oo ety HO°Y ED
Endoparasite

©os8 HT°R) £

Synthesized in the body
Derdns® Boghemdn abhd
Secreted by liver
Sohdn $08 [HHoDBD.

[P.T.O.
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Total number of ATP utilized in synthesis of urea
Srbaie Hodies® edsiHdhy ATP o Iwdo Sogy
(1) 4 (2 3 3) 2 (4)

During ecological succession, the stable community is called

DrerasS $BES & a8 Rad ESmgdSR dotrt.

(1) Pioneer Community ~ (2) Hydrosere
Brond Bk EE

(3) Climax community (4) Xerosere
SE) B0 H&%%5

The first pair of somites in chick embryo are formed around

ESaB0EED Soth TG Sy S osnE® EIVODH.

(1) 10 hrs : (2) 20 hrs
10 Hoben 20 Hodten
(3) 36 hrs (4) 24 hrs
36 Hotoen . 24 Hobren:

"One gene-one enzyme' hypotl:ecis was proposed by

28 2l - e QoD @l dIToSD [@BFBODY T

(1) Beedle and Tatumn (2) Jacob and Monad
HES bk treSH | | oSS b IreE

(3) Watson and Crick (4)" Hawer and Marre
TE5HS HBakw (85 a6 Hbakm HE

In sponges, the spicules are formed by

osses® sotrseen D8 B0l By oEE.

(1) Choanocytes (2) Porocytes
a3 ) 65 2e5)
(3) Chm_moéytes (4) Scleroblasts

Sy ")
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121. Choose the correct sequence of the stages for meiotic prophase

122.

123.

124.

B S5m0 Defers Y BESFSHED B Eosin

(1) Zygotene — Leptotene —> Pachytene —> Diplotene —> Diakinesis
2SS — BdS — 845 — APES —> SaTBRS

(2) Leptotene — Pachytene —> Zygotene —> Diplotene —> diakinesis
BPES — P85 — 85 — ards — BAFBHHR

(3) Pachytene — Zygotene — Diplotene — Leptotene ——)DlakmeSIS
>885 — 285 — aFdS — 885 — Ko

(4) Leptotene — Zygotene —> Pachytene —> Diplotene —> Diakinesis
BpdS — adS — >84S — 285 — BarEsRS

The tissue respiration means
Beaded (Bad el
(1) Inspiration
ST
(3) Internal respiration

©OSBFREAD

Neuron does not have the following
w8 BRTSE® o,
(1) Nucleus
o5
(3) Dendrites
co@en

The male hormone is synthesized from

JBR 6% BN B0 ©HB0s
(1) Seminiferous tubules

DE TS Few
(3) Sertoli cells

$5°08 Sezeen

(2)

(2)

(4)

(2)

4)

Fxternal respiration
irgEiad
Expiration

QB0

Lobe
[STeTAlSY
Axon
Lfellzisg=tve

Leydig cells
B&R Zeren
Cuboid cells

oeseS Beseen '
[P.T.O.

BS -



125.

126.

127.

128.

129.

Indiavidya.com

28

The influence of temperature on the number of vertebrae in fish is called

BSed® $30sime Kougd SAWS Bersted BeodSo.

(1) Allen's rule (2) Jordan rule
©ZS Dabivsn S Dot

(3) Gloser's rule (4) Bergmen's rule
AEE Dobhosm BEDS DAHHsw

The number of vertebrae associated with synsacrum

Doding (BELNID SomoBodd EdhEsme Sogy

(1) 6 (2 5 (3) 14 (4) 12

Australia has unusual organisms because their evolution for the past 35 million
years has been due to

&9@&0‘53“6‘5 @3 BPHenotHes a3 HOFB0 K 35 OAT Dod@Bdwenre & (8od B8S° a0,

(1) Rapid (2). Slow
3Korre DO

(3) Isolation B (4) Punctuation
Q5 H0ENISS

The vertebrae of birds are descrived as

IHed® 3 Frde eFeedn

(1) Heterocoelous - (2) Amphicoelous
DXoKEE | SHHROE

(3) Opisthocoelous (4) Procoelous
8518 b3 foulatatct

If both the parents are having AB blood group, the child may not have the blood group
BPIoHOYD 8 Syiin AB wavd, 36 Homssns & Bob 5 5850 SoE.
(1) A 2) O (3) AB 4) B

b} & Q&) 8
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Scales in Cyclostomata are

25Rr3rere® Feovte 555w

(1) Cyecloid (2)
Dseond

(3) Ctenoid (4)
Saront

Melatonin is secreted from

Do&"AS 5Yod K08

(1) Adrenal gland (2)
&965‘3@, fgfela)

(3) Melanocytes (4)
538356'53&.;3

A-V node is present in

A-V e HBS® ao. _

(1) Fishes 2)
BHen

(3) Birds (4)

v 4
DFen

Unit membrane hypothesis was nroposed by
aSedeS DOES BOBeS [BODLawS T

(1) Robertson (2)
U“eaééE
(3) Danielle & Davson (4)

GPUCHE HbAi TRHDS

Gambia fever is caused by
mofalr aBin B Sl Senrid.

(1) Plasmodium (2)
B0

(3) Trypanosoma (4)
55

Placoid
apseand
Absent
oF)

Thymus gland
OB (o
Pineal gland
5DaHS (500

Reptiles
éé()e)a"w
Mammals

&tren

Singer & Nicolson
2088 08asw ?Jgse)‘JS
De Robertis

&U;'anéﬁ
[ 5]

Entamoeba

Doerdoer

Leishmania

@ﬁ:&ﬁcﬁr

[P.T.O.
A
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The inner wall of mitochondria contains

uﬁ_)@saﬁo@cﬁs" o?_mé& &850 éé;:f)a’meﬁa a0.

(1) Trabeculae (2) Cristae
([@esren Bpen

(3) Cilia _ (4) Vil
3DBen Seseen

The main constituent of plasma protein

) @So0 Suagorr DIH0OH.

(1) Fibrinogen (2) Albumins
28588 ¢ SISHE]
(3) Heparin (4) Globulins
SPPBR rang®iy

The chemical substance present in synaptic junction
28 HoHE Ko arandE Hrrgim

(1) Aspartate (2 Acetylcholine
8—3?00)6&55 BSEOS

(3) Adrenaline (4) Epinephrine
o BIDS LIS

In an ecological phyramid of wvnbers, the number of individuals at each trophic
level.

Sogy, QSRS 20WE Hoth Sghie Dogy @S (e85 %{;wéﬁ

(1) Maintains constant (2) Increases
E’géom Gotnod INTARIaVESY)

(3) Decreases (4) Fluctuates
B 53y B,

Which of the following causes acid rain?
ey SOP8 SeBwa0?

(1) Carbondioxide ‘ (2) Carbon monoxide
:?633565&:@05 St SO LENA
(3) Hydrogen peroxide (4) Sulphur dioxide

ES Do Benb BoirRHE
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Kaziranga wild life sanctuary is in
PBBOrT SgEK FPoKHd B Beortd. _
(1) Andhra Pradesh (2) Assam
ol (KHBE o0
(3) Karnataka (4) Himachal Pradesh
Soperd | ErSe (HES

The number of cranial nerves in reptiles

éé@b@f Edrerarie Dogy

(1) 6 pairs (2) 10 pairs
6 ezéfen 10 esében
(3) 12 pairs (4) 14 pairs
12 zében 14 e3fen

In man, cholecystokinin stimulates the contraction of
SPEHIS® FESHYBIS BD H0ESE0D SBES Saswid.

(1) Stomach (2).( Salivary glands
e dubhiin _ erose (Koien

(3) Gall bladder . (4) Brunner's glands
S dhim @6 (Hogen

The major source of ammonia prodived by the Kidney is from

Sor(@ Dorres® @A B2 Dol @Ertorr SurEH%08

(1) Glutamine (2) Glycine
62808 | BHS

(3) Alanine (4) oIi/[ethionine
038§ ORI

The fibres found around the centriole are known as
TOEE)0(E550 Der EHBoHPHOH o,

(1) Chromosomal fibres (2) Continuous fibres
E°3rafs SosHHen DY) SodHen
(3) Interzonal fibres - (4) Astral fibres
©088 Hoke SodHen eQS SodhHen
[P.T.O.
A
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The part of the nephron where maximum reabsorption occurs

"@éé ($&oeersdn dfmég S grisnd® &)éo&a’n @:Srgsrgéeao 23ihebob.

(1) Henle's loop
Rerd

(3) Proximal convulted tubule
5808 SoSPETEEen

The larval stage in the life cycle of Obelia is
e H0asr 208 SEES® EOACG) Bodfs &I

(1) Planaria
HIOAT

(3) Bipinnaria
BDHBA

The function of centrosome is

oE*ED s

(1) Inhibition of cell division
Seo Defed @dIoWe

(3) Promote protein synthesis
B Do (FrBodoihes

(2)

(4)

(2)

(4)

(4)

Distal convulted tubule
o(fSoSPST VL
Glomerulus

BES° rohyEn

Trochophore
E°s586
Planula
e

Initiation of cell division

Seo DPesd (@eBodothes

Initiation of growth
2EBe% (Erdodoes

Ambulacral system is typicaily found in this phylum

woz0dES S5HY 58 6 S
(1) Porifera
PO DT
(3) Echinodermata
9@_5‘5&3&&“

Olfactory lobes are highly developed in
e ©ofEen BAEE e ©dHB BohI.

(1) Pisces
DHen
(3) Aves

4
DHen

(2)

(4)

(2)

4)

Coelenterata
§8otBer
Mollusca
o)

Amphibians
&giodsSoren
Reptiles
3OZ e
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150. In Palaemon, hastate plate is present in
2DErSEt '5::“'58&5 285 O grrEnS® dotnod.
(1) Oesophagus
ORTrE
(3) Cardiac stomach

5e08 BopdaHhsn
[#] €3

(2)

(4)

Buccal cavity
RGBT E 0
Pyloric stomach

x5 6% dedanbiim

[P.T.O.
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